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- Red bfigkwall 30 cm thickness with (1:8)

stg¢r2 cm thikness with (1:8) MIX

on matrial
-Twihi arble on wall 30*30*2
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- Red brickwall 30 cm thickness
with (1:8) MIX
- plaster 2 cm thikness with (1:8)
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- Tiles 50*50*0.8 cm porclein

- masonry (mortar) c/s 2cm thickness

- D.P.C 2 Bitumins layers

- RC 20 cm thickness
—plain conerete 10-em

- mormal sand

- hard core

- Tiles 50*50*0.8 cm porclein

- masonry (mortar) c/s 2cm thickness
- D.P.C 2 Bitumins layers

- RC 20 cm thickness

- plain concrete 10 cm

- mormal sand
- hard core

MIX
- iInsulation matrial
- white marble on wall 30*30*2

- Acrylic emulsion bage
paint

- plaster 2:5 cm 1:6 cm
- one brick wall 1:6 cm

- plaster 2:5 cm 1:6 cm
- Acrylic emulsion bage
paint



